THE SOLUTIONS TO THE
PRACTICE PROBLEMS
FROM CHAPTERS 1 AND 2
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10) 7' = 3(A — 20)2 + 50 -+ 10
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13) 7(10z) = (7 - 10)z = 70z =
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26) 2z + 6y = —12
2¢ — 2z + 6y = -2z — 12

6y = —2z — 12
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28)Case 1) When 0 isthe numerator or
dividend, the quotient is 0. Asanexample,

= O because0 = 4 - 0. The generalruleis

okl

= O provided that k # 0.

Case 2} WhenQisinthe denominator oris
the divisor, the quotient is unde fined.

4
% is undefined because 0= O oranyreal

number leadsto the false mathematical
statement that 4 = 0. Nottrue! The general

ko .
ruleis ;G unde fined for any real number

k.

Case 3) W hen 0 s both the numerator and

denominator, the quolieni we say is

indeterminalte, Because g— could beD

because( =0-0 or —g could be 10 because

0 = 0 - 10 we do not get a unique solution for

0 0
o Thus, we say 5 is indeterminate or

undefined.a

29) N = 2.4z + 180
324 = 2.4z + 180
2.4z + 180 = 324
2.4z + 180 — 180 = 324 — 180

2.4x = 144
24¢ _ 144
2.4 2.4

r — 60

TheU.S. population is expected to be 324
million 60 years a fter 1960 or in the year
2020. =

30) Hint : The amount is near the word
"is" and the baseis always o fter the word

”Of”.

Amount = Percent - Base

A=P-B
A =0.06-140
A= 84n

31) Amount = Percent .- Base

A=P-B
120 = 0.80+ B
0.808 =120
(100)0.80B = (100)120
80B = 12,000
s0B __ 12,000
8 80
B =150=

32) Amount = Percent - Base

A=P-B

12 = P -240
240P = 12
200P _ 12
240 240
P =0.05=5%n



33)letx = the number

br — 9 =310
+9 49
bx = 319
5z ... 319
5 5
T = 63.8
The number 15 63.8n

34)letx = the number

6z — 8 =184
+8 +8
6z = 192
6z __ 192
5 6

x =232

Thenumberis32.s

35)
1) Letx = the # of home runs hit by Sosa
2) Thenz + 4 = the #of home runs hit by
McGuwire
HNz+(xz+4) =136
4) 260 +4 =136

-4 —4

2z = 132
x = 66

5} Sammy Sosa hit 66 home runs and Mark
McGwire hit 70 home runs in 1998. u

36)
1) Let z = the width of a basketball court
2)Thenz + 13 = thelength
3) 2. width + 2. length = Perimeter
2z -+ 2(x+13) =86
4) 22+ 26 =86

4 4 26 = 86
42 = 60
z =15

5) The width of a basketball courtis 15
metersandthelength is 28 meters.n

37)
1) Let . = thebook’s original price be fore
the reduction
3) Original Price- Reduction = Sale Price
z — .25z = 6.00
lz — 0.26z = 6.00

0.76x = 6,00
100- 0.75x = 100 - 6.00
The = 600
Iz __ 600
T 75
x =28

Theoriginal priceof the Richard Laymon
paperback book was $8.a Note : Richard
Laymonwasa friend of Mr. Green's who
wrote morethan 35 scary horror novels
which sold very well in Burope and
Australia and are starting to catch on here
inthelU.S. after Richard s untimely death.
If youlike books by Koontz and King, try
Laymon for some seriously strange stories!
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41) 69z > 33
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—9x > 27

~Gx 27

= < 2L

z < -3

o]z < —3)

1 1 : —
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42) bz + 4 < Tz + 2)
br +4 < Tz -+ 14
—fz ~Tx
—2z+4 <14
—4 — 4
-2z < 10

—2z 10
5 23

r > -5

{zjz > —5}

43) 22 +4) > d(z +2) — 6
de +8>4x+8-6
dax 8 >4 +2

— 4z —dz
8>2

The original inequality is equivalent to the
statement 8 > 2which istrue for every
value of x, Thus, the solution is all real
numbers! The answer can be expressed in
set-builder notation as {z|z is a real
number}or in interval notation as

(—OO, 00). =

44) 2w —4) < 3w +1— 5z
—2z+8< -2x+1
+ 2z + 2z
8 < 1

T'he original inequality is equivalent to the
statement 8 < 1which is false for every
value of x. Thus, the inequality hasno
solution. The solution set is (), the emply

setl, a

45) A student has grades on three exams
of 76, 80 and 72. What grade must the
student earn on the 4th exam in order to
have an average of at least 80?

1)let x = the 4th exam score
2) thenthe average = 1480w

3) the student’s average > 80

7648047242
4124 > g

4) 22§1§i+m 2 80
4. BB > f g0
28+2x2> 320
— 228 — 228
r>= 92

5) The student must earn 92 or higher or the
fourth examto have an average of at least
80.m



